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QUESTION 1

Which of the following BEST describes the difference between differential and incremental backups? 

A. Differential backups save everything since the last backup. Incremental backups save everything since the last
differential backup. 

B. Differential backups save everything since the last full backup. Incremental backups save everything since the last
backup. 

C. Differential backups will restore everything if needed. Incremental backups will restore just the latest changes since
the last incremental backup. 

D. Incremental backups will restore everything that has changed in the last day. Differential backups will restore
everything since the last full backup. 

Correct Answer: B 

 

QUESTION 2

When entering in an imaging room, which of the following items should a technician leave outside? 

A. Athletic shoes 

B. Glasses 

C. Car keys 

D. ID badge 

Correct Answer: C 

 

QUESTION 3

A user states an outpatient record never transferred from the EHR/EMR system to the user\\'s third party system. All
other records seem to be transferring normally. 

Which of the following is MOST likely the cause? 

A. The notes segment is empty or null. 

B. The thread between the systems is offline. 

C. There is an error on the third party system. 

D. The patient demographic segment is mislabeled. 

Correct Answer: D 
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QUESTION 4

Which of the following portions of the United States government is responsible for enforcing the employer and provider
identifiers? 

A. CMS 

B. HHS 

C. OCR 

D. NIST 

Correct Answer: B 

 

QUESTION 5

When certain types of forms are scanned, the technician notices that anything typed or written in the color red is not
appearing on the image. This is an example of which of the following? 

A. De-skewing 

B. Redaction 

C. Dithering 

D. Color dropout 

Correct Answer: D 
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